

Example

Differentials



Example (continued)

Example: Find $(x^2 + 1)^5 (2x) dx$ Solution: For our substitution, let $u = x^2 + 1$, then $du/dx = 2x$, and $du = 2x dx$. The integral becomes $\int u^5 du = u^6/6 + C$, and reverse substitution yields $(x^2 + 1)^6/6 + C$.	Very Important! $\int u^n du = \frac{u^{n+1}}{n+1} + C, n \neq -1$ $\int e^u du = e^u + C$ $\int \frac{1}{u} du = \ln u + C$
EARNING Copyright © 2015, 2011, and 2008 Pearson Education, Inc. PEARSON 9	ALWAYS LEARNING Copyright © 2015, 2011, and 2008 Pearson Education, Inc. PEARSON
Integration by Substitution	Example

General Indefinite Integral

Formulas

Example

$\int (x^2 + 5)^{1/2} (2x) dx$	$\int (x^3 - 5)^4 x^2 dx$
Step 1 – Select u .	Let $u = x^3 - 5$, then $du = 3x^2 dx$
Let $u = x^2 + 5$, then $du = 2x dx$	We need a factor of 3 to make this work.
Step 2 – Express integral in terms of u .	$\int (x^3 - 5)^4 x^2 dx = (1/3) \int (x^3 - 5)^4 (3x^2) dx$
$\int (x^2 + 5)^{1/2} (2x) dx = \int u^{1/2} du$	$= (1/3) \int u^4 du$
Step 3 – Integrate.	$=(1/3) u^{5/5} + C$
$\int u^{1/2} du = (2/3)u^{3/2} + C$	$=(x^3-5)^5/15+C$
Step 4 – Express the answer in terms of x .	In this problem we had to insert a factor of 3 in order to
$(2/3)u^{3/2} + C = (2/3)(x^2 + 5)^{3/2} + C$	get things to work out. Caution – a constant can be
	adjusted, but a variable cannot.
ALWAYS LEARNING Copyright © 2015, 2011, and 2008 Pearson Education, Inc. PEARSON	13 ALWAYS LEARNING Copyright © 2015, 2011, and 2008 Pearson Education, Inc. PEARSON
Example	Example
	$\int \frac{x}{dx} dx$
$x^2 e^{4x^3} dx$	$\int (5-2x^2)^5 dx^2$
Let $u = 4x^3$, then $du = 12x^2 dx$	Let $u = 5 - 2x^2$, then $du = -4x dx$
We need a factor of 12 to make this work.	We need a factor of (-4)
$\int r^2 e^{4x^3} dr = \frac{1}{2} \int 12 r^2 e^{4x^3} dr$	$\int \frac{x}{(5-2x^2)^5} dx = -\frac{1}{4} \int \frac{-4x}{(5-2x^2)^5} dx$
$\int x^2 e^{4x^3} dx = \frac{1}{12} \int 12x^2 e^{4x^3} dx$	$\int \frac{x}{(5-2x^2)^5} dx = -\frac{1}{4} \int \frac{-4x}{(5-2x^2)^5} dx$
$\int x^2 e^{4x^3} dx = \frac{1}{12} \int 12x^2 e^{4x^3} dx$ $= \frac{1}{12} \int e^u du = \frac{1}{12} e^u + C = \frac{1}{12} e^{4x^3} + C$	$\int \frac{x}{(5-2x^2)^5} dx = -\frac{1}{4} \int \frac{-4x}{(5-2x^2)^5} dx$ $= -\frac{1}{4} \int \frac{1}{u^5} du = \left(-\frac{1}{4}\right) \left(-\frac{1}{4}\right) u^{-4} + C = \frac{1}{16\left(5-2x^2\right)^4} + C$
$\int x^2 e^{4x^3} dx = \frac{1}{12} \int 12x^2 e^{4x^3} dx$ $= \frac{1}{12} \int e^u du = \frac{1}{12} e^u + C = \frac{1}{12} e^{4x^3} + C$	$\int \frac{x}{(5-2x^2)^5} dx = -\frac{1}{4} \int \frac{-4x}{(5-2x^2)^5} dx$ $= -\frac{1}{4} \int \frac{1}{u^5} du = \left(-\frac{1}{4}\right) \left(-\frac{1}{4}\right) u^{-4} + C = \frac{1}{16\left(5-2x^2\right)^4} + C$

Example

Example

Application

